Chapter 5 Trig Review : '
Don’t lose your identity doing identities!
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Determine the number of solutions in the interval U < x < 21 for:

—, als an integer, where a = |
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Determine the general solution:

—;%— + 2nw, 1115
%%—FE» 1112. +HT,
113; + 2nm, ql 5

A. cosH ;t%
B. sing=0
C. smnf@#0, cosb# %
/];\cosg #0, cosB# %

+ 2nm

eXpression -

Sin 2x = -5 (
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T , P ~ tanBcsct O
C? Determine an expression equivalent to —————.
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\ \ Simplify: cos2xcosx+sin2xsinx
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Solve algebraically, giving exact values, where 0 < x

< 2.
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Solve algebraically, giving exact values, wh
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Prove the identity:

SINX

1 —cosx
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Prove the identity:

tanx +sinx 1

tanx

| +cosx
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A, PointM (—a, b) is in quadrant IT and lies on the terminal arm of angle 6 in standard
position. Point N is the point of intersection of the terminal arm of angle @ and the unit
circle centred at (G, U) . Determine the J?-\(E:oordinate of point N in terms of a and &.
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(2. Determine the range of the function y = 6 cos % (x—3)+4.

A —6<y<6
B. 1<y<7
L. 4<y<4
v @ ~2<y<10
S
| . Which of the following lines is an asymptote for the graph of y=gcsc 2x7?
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IS . If the graph of the function shown below has the equation y = asinb(x - c)+d
determine the value of b. (b > 0)
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| (o  Determine the domain of f(x)= tan 2x )
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A.. x=all real numbers
74
V,/’ B. jx=all real numbers, x# £+$} 1 is an integer
C.

| T
x = all real numbers, x# —+nw,

D.

n is an integer
x = all real numbers, x = n+2nx

, nis an integer
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(7 At a seaport, the depth of the water, d, in metres, attime ¢ hours, during a certain day 18

given by:

d=3.4sin2n

(r~7.00)

TONR

On that day, determine the depth of the water at 6:30 p.m.

A. 3.43 m
3.8lm
480 m

B.
AN
/@ 6.53m

l% If the graph of the function shown below has the equation y = a sinb{x - c) +d,

-~ determine the value of 5. (&> 0)

¥

M
m!é‘ uxl?f B o

olc i

Gt
__/"’
B
A v
1 (',—,
£ fan
1
LT
-
,/‘:/—




C] A wheel with radius 20 cm has its centre 30 cm above the ground. Ttrotates once every
" 15 seconds. Determine an equation for the height, A, above the ground of a point on
the wheel at time, ¢ seconds if this point has a maximum height at r = 2 seconds.
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@ ZOuos 1‘3/ )+ 30

A

AL k= Z?c,os—~(t+7)+30/

C. /7—30«:05 (r+7)+70
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D. k=30cos 2T (r~2)420
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(Qo A PFerris wheel with a diameter of 60 m rotates once every 48 seconds. At time 7= 0 ,
* arideris at his Jowest height which is 2 m above the ground.

a) Determine a sinusoidal equation that gives the height, k, of the rider above the
ground as a function of the elapsed time, 7, where & is in melres and f is seconds.

b) Determine the time  when the rider will be 38 m above the ground for the first

time after = 0.
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A\, A mass is supported by a spring so that it rests 50 cm above a table top, as shown in the
diagram below. The mass is pulled down to a height of 20 cm above the table top and

X G released at time 7 = 0. It takes 0.8 seconds for the mass to reach a maximum height of
ey YA 80 cm above the @bletop. As the mass moves up and down, its height /i, in cm, above
= s i ihe table top, is approximated by a sinusoidal funetion of the elapsed time ¢, in seconds,

{’}“,( for a short period of time.
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Determine an equation for a sinusoidal function that gives h as a function of .
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